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(1) AB = 4, AD = 3 Th 2l ABCD 12 8W\T, 2 KO0 % E 12845 BD % 3 1 2 1244
U, 9 AC% 11412 LT03ET%. AB= b, AD=d £5<. —or %, ~Z L VACH
AC=[7 ]b+[ 7 ]drkes. X512, 5 AC LN BD AREIIZ DL ES, W b - d
il TH Y, MK ABCD OHFE TH5.

(2) 6 A044Ea, b, ¢, d, e, f235DWEP, Q RICANG. &MRIL6 AZTANDZ ENTES. =
DEX, BRPHSTHINE LT, 3ODWREADEED ANTTIZLIT BYHB. £z, K
BRI 2 AFDOAD & 5 BAERED AN I T OB, BENRTIENE S BEEO AN IZE
BT DEYY

(3) x DB% f(x) % f(x) = flzxt(t—x)dt WCEDVEDD. ZDrE, f(x) 202R22720D xr D%
Jiars Thd. 272, F(D O () = THY, > 10LED f(z) ERDB L
flx) = Th5.

(4) =fAABCOMLETE L, =k ABC OAEM L B AL L D% STANSNOEDE D E$5. AB=2,
AC=3, AD=4D¥r %, cos/BAD = T#Y, BD=[ ¥ ], CD=[ % ], BC=
Th3.




